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1) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a
local dentist whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me
not to let myself be sent there. With great skill and vivid description he drew hideous pictures of what
went on there and told me that I should hate the school as much as he did. Then one dreadful afternoon
my mother told me that I had ‘got in’. I wept. I went to my room and cried myself to sleep. Within a few
weeks later, I did have to leave home, I did so with tears and lamentation.

(School days: Raising the Wind: Gilbert Harding)
Which of the following statements about Freddy Volpe is true?
[Question ID = 13497]

1. He convinced the narrator to join school [Option ID = 23987]

2. He disliked his school [Option ID = 23988]

3. He was skillful at drawing pictures on paper [Option ID = 23986]
4. He was the dentist’s only son [Option ID = 23985]

Correct Answer :-
» He was the dentist’s only son [Option ID = 23985]

2) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a
local dentist whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me
not to let myself be sent there. With great skill and vivid description he drew hideous pictures of what
went on there and told me that I should hate the school as much as he did. Then one dreadful afternoon
my mother told me that I had ‘got in’. I wept. I went to my room and cried myself to sleep. Within a few
weeks later, I did have to leave home, I did so with tears and lamentation.

(School days: Raising the Wind: Gilbert Harding)

Why was the narrator happy?
[Question ID = 13493]

1. He got admission to the school [Option ID = 23970]

2. He liked the description of the school [Option ID = 23971]

3. He did not get admission to the school [Option ID = 23972]

4. He was going for tea at the dentist’s place [Option ID = 23969]

Correct Answer :-
» He was going for tea at the dentist’s place [Option ID = 23969]

3) Read the passage given below carefully.



I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a
local dentist whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me
not to let myself be sent there. With great skill and vivid description he drew hideous pictures of what
went on there and told me that I should hate the school as much as he did. Then one dreadful afternoon
my mother told me that I had ‘got in’. I wept. I went to my room and cried myself to sleep. Within a few
weeks later, I did have to leave home, I did so with tears and lamentation.

(School days: Raising the Wind: Gilbert Harding)

Why was the afternoon dreadful for the narrator?
[Question ID = 13494]

1. He had to leave his mother [Option ID = 23973]

2. He had to leave his home [Option ID = 23974]

3. He had got admission to the school [Option ID = 23975]
4. He was not admitted to the school [Option ID = 23976]

Correct Answer :-
» He had to leave his mother [Option ID = 23973]

4) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a
local dentist whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me
not to let myself be sent there. With great skill and vivid description he drew hideous pictures of what
went on there and told me that I should hate the school as much as he did. Then one dreadful afternoon
my mother told me that I had ‘got in’. I wept. I went to my room and cried myself to sleep. Within a few
weeks later, I did have to leave home, I did so with tears and lamentation.

(School days: Raising the Wind: Gilbert Harding)
Which place does the phrase ‘went on there’ in the given passage refer to?
[Question ID = 13496]

1. Freddy’s home [Option ID = 23982]

2. The dentist’s clinic [Option ID = 23983]
3. The dentist’s home [Option ID = 23984]
4. The school [Option ID = 23981]

Correct Answer :-
e The school [Option ID = 23981]

5) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a
local dentist whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me
not to let myself be sent there. With great skill and vivid description he drew hideous pictures of what
went on there and told me that I should hate the school as much as he did. Then one dreadful afternoon
my mother told me that I had ‘got in’. I wept. I went to my room and cried myself to sleep. Within a few
weeks later, I did have to leave home, I did so with tears and lamentation.

(School days: Raising the Wind: Gilbert Harding)



What does the phrase ‘cried myself to sleep’ in the given passage mean?
[Question ID = 13495]

1. To cry in order to sleep [Option ID = 23979]

2. To cry until one falls asleep [Option ID = 23978]
3. To cry in sleep [Option ID = 23980]

4. To cry continuously [Option ID = 23977]

Correct Answer :-
e To cry continuously [Option ID = 23977]

Topic:- DU_J19_BELED_T2_NEW

1) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised
everyone, including myself, by getting up before sunrise. I was just in time to catch the culprit out of the
Walnut tree. She was an old woman who sometimes came to cut grass on the hillside. Her face was as
wrinkled as the walnuts she so fancied, but her arms and legs were very sturdy. "And how many walnuts
did you gather today, Grandmother?” I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus
encouraged, she climbed higher into the tree and helped herself to the remaining nuts. It was
impossible for me to object. I was taken with admiration for her agility. She must have been twice my
age, but I knew I could never get up that tree. To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
Which word of the following does not describe the old lady?
[Question ID = 13500]

1. Agile [Option ID = 23997]

2. Sturdy [Option ID = 23998]

3. Surprised [Option ID = 24000]
4. Wrinkled [Option ID = 23999]

Correct Answer :-
 Agile [Option ID = 23997]

2) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised
everyone, including myself, by getting up before sunrise. I was just in time to catch the culprit out of the
Walnut tree. She was an old woman who sometimes came to cut grass on the hillside. Her face was as
wrinkled as the walnuts she so fancied, but her arms and legs were very sturdy. "And how many walnuts
did you gather today, Grandmother?” I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus
encouraged, she climbed higher into the tree and helped herself to the remaining nuts. It was
impossible for me to object. I was taken with admiration for her agility. She must have been twice my
age, but I knew I could never get up that tree. To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
What does the phrase ‘To the victor, the spoils’ mean

[Question ID = 13503]



1. Victory spoils us [Option ID = 24009]

2. The winner gets the reward [Option ID = 24012]
3. The winner gets spoilt [Option ID = 24010]

4. The victor gets punished [Option ID = 24011]

Correct Answer :-
« Victory spoils us [Option ID = 24009]

3) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised
everyone, including myself, by getting up before sunrise. I was just in time to catch the culprit out of the
Walnut tree. She was an old woman who sometimes came to cut grass on the hillside. Her face was as
wrinkled as the walnuts she so fancied, but her arms and legs were very sturdy. "And how many walnuts
did you gather today, Grandmother?” I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus
encouraged, she climbed higher into the tree and helped herself to the remaining nuts. It was
impossible for me to object. I was taken with admiration for her agility. She must have been twice my
age, but I knew I could never get up that tree. To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
What does the phrase ‘helped herself’ in the given passage mean?
[Question ID = 13502]

1. Plucked and collected [Option ID = 24005]

2. Took herself out of trouble [Option ID = 24007]

3. Stretched for the higher branches of the tree [Option ID = 24008]
4. Tried to climb the tree [Option ID = 24006]

Correct Answer :-
o Plucked and collected [Option ID = 24005]

4) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised
everyone, including myself, by getting up before sunrise. I was just in time to catch the culprit out of the
Walnut tree. She was an old woman who sometimes came to cut grass on the hillside. Her face was as
wrinkled as the walnuts she so fancied, but her arms and legs were very sturdy. "And how many walnuts
did you gather today, Grandmother?” I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus
encouraged, she climbed higher into the tree and helped herself to the remaining nuts. It was
impossible for me to object. I was taken with admiration for her agility. She must have been twice my
age, but I knew I could never get up that tree. To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
What encouraged the old lady to gather more nuts?
[Question ID = 13501]

1. That the narrator was impressed with her agility [Option ID = 24004]
2. That the narrator appreciated her [Option ID = 24002]

3. That the narrator giggled [Option ID = 24001]

4. That the narrator accepted a nut from her [Option ID = 24003]

Correct Answer :-



« That the narrator giggled [Option ID = 24001]

5) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised
everyone, including myself, by getting up before sunrise. I was just in time to catch the culprit out of the
Walnut tree. She was an old woman who sometimes came to cut grass on the hillside. Her face was as
wrinkled as the walnuts she so fancied, but her arms and legs were very sturdy. "And how many walnuts
did you gather today, Grandmother?” I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus
encouraged, she climbed higher into the tree and helped herself to the remaining nuts. It was
impossible for me to object. I was taken with admiration for her agility. She must have been twice my
age, but I knew I could never get up that tree. To the victor, the spoils!

( Trees from my Window; Ruskin Bond)

Why did the narrator get up before sunrise?
[Question ID = 13499]

1. To surprise himself [Option ID = 23993]

2. To catch the culprit who stole the walnuts [Option ID = 23996]
3. To help the old lady in cutting the grass [Option ID = 23994]
4. To pluck the nuts before they got stolen [Option ID = 23995]

Correct Answer :-
o To surprise himself [Option ID = 23993]

Topic:- DU_J19_BELED_T3_NEW

1) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer.
Between the ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the
consciousness that I was outraging my true nature and that sooner or later I should have to settle down
and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my
father before I was eight. For this and other reasons I was somewhat lonely, and I soon developed
disagreeable mannerisms which made me unpopular throughout my schooldays. I had the lonely child's
habit of making up stories and holding conversations with imaginary persons, and I think from the very
start my literary ambitions were mixed up with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)

How many siblings did the author have?
[Question ID = 13505]

1. Three [Option ID = 24017]
2. Two [Option ID = 24018]
3. Five [Option ID = 24019]
4. Four [Option ID = 24020]

Correct Answer :-
o Three [Option ID = 24017]



2) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer.
Between the ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the
consciousness that I was outraging my true nature and that sooner or later I should have to settle down
and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my
father before I was eight. For this and other reasons I was somewhat lonely, and I soon developed
disagreeable mannerisms which made me unpopular throughout my schooldays. I had the lonely child's
habit of making up stories and holding conversations with imaginary persons, and I think from the very
start my literary ambitions were mixed up with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)
Which childhood habit of the author stems from his loneliness?
[Question ID = 13507]

Making up stories and holding conversations with imaginary persons [Option ID = 24027]
Barely seeing his father before he was eight [Option ID = 24026]

Trying to abandon the idea of becoming a writer [Option ID = 24025]

Outraging his true nature [Option ID = 24028]

HwWwN =

Correct Answer :-
. Trying to abandon the idea of becoming a writer [Option ID = 24025]

3) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer.
Between the ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the
consciousness that I was outraging my true nature and that sooner or later I should have to settle down
and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my
father before I was eight. For this and other reasons I was somewhat lonely, and I soon developed
disagreeable mannerisms which made me unpopular throughout my schooldays. I had the lonely child's
habit of making up stories and holding conversations with imaginary persons, and I think from the very
start my literary ambitions were mixed up with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)
What does the phrase ‘I soon developed disagreeable mannerisms’ in the given passage mean?
[Question ID = 13506]

1. I refused everything [Option ID = 24022]

2. I developed a disagreement with mannerisms [Option ID = 24024]
3. I did not develop good manners [Option ID = 24021]

4. 1 displayed unpleasant behaviour [Option ID = 24023]

Correct Answer :-
» I did not develop good manners [Option ID = 24021]

4) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer.



Between the ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the
consciousness that I was outraging my true nature and that sooner or later I should have to settle down
and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my
father before I was eight. For this and other reasons I was somewhat lonely, and I soon developed
disagreeable mannerisms which made me unpopular throughout my schooldays. I had the lonely child's
habit of making up stories and holding conversations with imaginary persons, and I think from the very
start my literary ambitions were mixed up with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)
What does ‘outraging’ mean in the above passage?
[Question ID = 13508]

1. Showing anger [Option ID = 24031]
2. Horrifying [Option ID = 24032]

3. Violating [Option ID = 24030]

4. Disgusting [Option ID = 24029]

Correct Answer :-
» Disgusting [Option ID = 24029]

5) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer.
Between the ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the
consciousness that I was outraging my true nature and that sooner or later I should have to settle down
and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my
father before I was eight. For this and other reasons I was somewhat lonely, and I soon developed
disagreeable mannerisms which made me unpopular throughout my schooldays. I had the lonely child's
habit of making up stories and holding conversations with imaginary persons, and I think from the very
start my literary ambitions were mixed up with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)
What according to the author was his ‘true nature’?
[Question ID = 13509]

1. To avoid instincts [Option ID = 24036]

2. To write [Option ID = 24033]

3. To converse with imaginary persons [Option ID = 24035]
4. To be lonely [Option ID = 24034]

Correct Answer :-
o To write [Option ID = 24033]
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[Question ID = 13514]

1. TS=IT e & 3171 [Option ID = 24053]

2. TSI geFd T TTel TR 31T [Option ID = 24055]
3. TSAT 30T & 37T [Option ID = 24056]

4, =TT IROT & AHT=T [Option ID = 24054]

Correct Answer :-
+ ST == & 31T [Option ID = 24053]
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[Question ID = 13512]

1. & T rse} & Fofel T [Option ID = 24045]

2. QTsg, W o ST 371 THST T [Option ID = 24048]
3. 3TATTRIA 31T &3Thet T [Option ID = 24046]

4, 31TBT Fglfaar fTor@eT FT [Option ID = 24047]

Correct Answer :-
* FT AT Asal & Folel HT [Option ID = 24045]

3) frafaf@a gz i eae & ufew)
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[Question ID = 13515]

1. @ 319 fAaT & urdar aa & [Option ID = 24060]
2. @ AT T 9T T & [Option ID = 24058]

3. OIS UTSH ¥ WTT I & [Option ID = 24059]

4, AWGH T G A WHAT FIA ¢ [Option ID = 24057]

Correct Answer :-

o AWH 3T I@H ¥ YT Fd & [Option ID = 24057]
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[Question ID = 13513]

1. 31\ [Option ID = 24051]
2. 37AT [Option ID = 24049]

3. 3174 [Option ID = 24050]
4. 3TaTel [Option ID = 24052]

Correct Answer :-
o AT [Option ID = 24049]

5) farafaf@a ez #t ea & gfewl
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[Question ID = 13511]

1. S f&eT & aard 31T [Option ID = 24044]
2. S T &1 & 317 [Option ID = 24043]
3. SiY 4T geTw 3T [Option ID = 24041]

4, St foaT 8t aoFa 31T [Option ID = 24042]

Correct Answer :-
« it T4 geTT 31T [Option ID = 24041]
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[Question ID = 13518]

1. @ ST [Option ID = 24069]

2. YT ALFAT T [Option ID = 24071]
3. 81T ST [Option ID = 24070]

4, X 9= [Option ID = 24072]

Correct Answer :-
e @I SATAT [Option ID = 24069]

2) ol ez i tar & 9few)
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(GerfFeaa,agen )
AEHT & Hegsl A 3gAS” FT 741 7S §?
[Question ID = 13520]

1. 3raTeteh [Option ID = 24078]

2. oGt H fEeraedT I@=T [Option ID = 24080]
3. gufedT argel Tl aTell [Option ID = 24077]
4. 7Y [Option ID = 24079]

Correct Answer :-
* GUTEAT aTgeT Telled dTell [Option ID = 24077]

3) fArafaf@a ez #t ea & gfewl

g1, T AR Oy off ey ws e, quiRaT Tet @ T FIFET AR 1 AL, 30HT A1| A T A ol werdt F g
e a1 T, IEAF, Al TG F A AT F9EaR, TeT 55F M| AT§ TE F 3T W@ Fhet FAR F FIAr & SAqTeT
FRYEr T T g FaeEd JgHH F TFHT fAT TR 7 7§ 9| a9 7 3, 7 g3 o Oy sAerarer et 7 2w g
Rarara & &, TEaast g & T3, IHH [ o, "7 Sy ar §2?"

(G, agen )

Tl FHeT TAR HT F4T o781 A2
[Question ID = 13517]

1. Jf@eT 3rareTs ST TET & T 315 &Y [Option ID = 24067]
2. ST TR I oot a1geT 31T T & [Option ID = 24068]

3. T TS RS U 3T 16T AT [Option ID = 24066]

4. T HAR T8l § THaeFahl 7€l 31T [Option ID = 24065]

Correct Answer :-
 THe AR T@1 U TGaFH A6 g3 [Option ID = 24065]

4) AFafaf@d sgmr H ea= § ufgw)
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(gefFwrd,agen )
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[Question ID = 13521]

1. ford argrett a1 afear efder i [Option ID = 24081]
2. GIsAT dXW T oef ITArT [Option ID = 24082]

3. sileTaTet &1 T@EereRt g1e [Option ID = 24083]

4, fEooll S AT &1 3797 81T [Option ID = 24084]

Correct Answer :-

o ford srgrelt @1 afear efides gater [Option ID = 24081]

5) frafaf@a gz i eae & ufewl

g1, T AR R off ey wg e, quiar Tet @ e FIFHT FAR T AL, 3WHT 911 e T A frdl werdt F ahg

o a1 I, e, el E F A AT FAGaR, TET S5 1§ S A { 3T I FHeT HaR o FThr § ATeT
FIfRYLr Y 9T FAA FTAGET FqHH W TFHT fAC T 7 @ 9AT| e F 31M, T8 o 1 Py Alsraret fewelt F aam ghom S
Rarra & &, TEaast g & T34, IHH (S o9, "9 S ar §2"

(gerfFwAa,agen )
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[Question ID = 13519]

1. sfA@Ter [Option ID = 24074]
2. §35oTd [Option ID = 24073]
3. 99%% [Option ID = 24076]
4, Se@e [Option ID = 24075]

Correct Answer :-
+ S9$5aId [Option ID = 24073]
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A A9 W 991 519 B

(# da# &4 o7, FHAATS ATR)
farafaf@a eree-goat & & Fi-u1 Zoor 7 eree-AE 377 & Aot §2

[Question ID = 13524]



1. @3- [Option ID = 24095]
2. STIT-311T [Option ID = 24094]
3. UAT-9T=TT [Option ID = 24096]
4. NT-IIR [Option ID = 24093]

Correct Answer :-
o eT-ar [Option ID = 24093]

2) farafaf@e ez #i eae @ 9wl

wr1929ﬁﬁnmahﬁwﬁawganaﬁwa‘«‘#aw1939aa7a‘gqﬁawﬁ?ﬁﬁﬂaﬁwmg’rmmm e St &
safadea & 7 9ga Ao wenfaa fram) 3mier & JeT-FeaT et ST & T FraTerd 7 oY Sar-3mam Fear g
Y 72 et 4| il o7 T WY TS # S &1 AF-IR IR 3T I R 2 Geened I onl 3R A dow A v
TG 9T AT AFeTE AR T & et Ferarrw @ | AGAST F TR 48 37 Ao wfefoasw Ferget Hr o et aF W
AH 9o 9T AT T &Y 3ifFa &1 Tt gfzd eaafaegr) 3 &1 va 3uer sff 37 Gt AY A & 87 X 7147 91| 3egiat
FET 4T, WIEeT FY TH FAA 1 AT F3it 781 qerren anfew 14 & @ra-die gererer @X F71 o597 41, sufaw 5w Rgia &
A A9 W 931 519 B

(# da# &4 o7, FHAATS ATR)
IR AT F1 AET g Fe ?
[Question ID = 13526]

1. SUTIR & 37e19T-37e19T Ihl & Sk & [Option ID = 24102]

2. G AT & A YOl & aR & [Option ID = 24103]

3. JGH TN 3T @i 3R 3o [AaRT & 9 & )X & [Option ID = 24101]
4, AW@H & IMTYF GFdeeIdT & X 7 [Option ID = 24104]

Correct Answer :-

o AWH W 3T oG 3R 3% faaRT & 987d & SR 7 [Option ID = 24101]

3) frafaf@a gz i eae & ufew)

a?r1929ﬁﬁﬂmah#qﬁawganaﬂraa#a'ﬂ1939aa;a3qﬁa'zrﬁﬂ’fﬁ?raﬁrwamé’rammml e S &
safddcd 3 {H Igd TS FonTfaa raT| er & FeT-FHeT GRSt AT & FUT FraTery 3 ot STAT-3TAT FIar oI fdr
wa%amﬁ’ra}léha’raﬁwmmﬁwﬁm DeT-arR IR 3T FS 9T ot g 9127 A7) 3SR AT qBFH A UF
mwmmmma;m%amw@mm*maﬁmaﬁammaﬁmmmm
ATH Yoo T AT T &Y 3ifFa &1 Tatren ufza eaafagr) e &1 v 39ger sft 3o et A A 7 97 3 7137 911 Sgiat
FET 4T, AMecd F TH FA F1 AT Feft 7g) qaren afew 14 3 @ra-dia gererer @ #1 as#1 a1, sufaw sw Rgia &
A A I TS BT NN

(# da® #d 7o, FHq AVR)
3% &, fiet Fware 3 @ & e Feaww FaF PT@ S ?
[Question ID = 13525]

1. geReITersir 19T, foRTeTsi 31X ok & farw [Option ID = 24100]
2. faRrer St 3R 35 &4 & fow [Option ID = 24097]

3. or@®, TATIERY {3 31 foRTer St & faw [Option ID = 24098]
4. f&s S3it & faw [Option ID = 24099]

Correct Answer :-

o foRTe St 31 35 =T & faw [Option ID = 24097]



4) farafaf@a seamr # cae & afev

r-r1929#ﬁwsﬁ#trhmr§3n3ﬁtaﬁ#m1939a$a's'qﬁmrﬁﬂ’fﬁ?raﬁrwamﬁwwm oncikciky
safddca o gt agd T venrfad fram| 3msr F Fa1-FeT geARTersh 9T & FuT Hravery 7 st SrA1-3AT FICAT A1
Y T3 31T &) Al 7T TF W T@AS H @A A AA-IR IR 3ARY FIEY 9 ot gelared 2w 4| e a oF A v
TG W AT AwE AR AF & et Fearaw @@ &) AGAST F TR 43 37 AT wfefeasw Fgrget A o et aF W
A Yoo 9T 541 & 4t 3ifFa §1 Tawra ufta eamsferd s &1 va 3uder it 39 R A% 7 & o)X X 797 911 3o
FeT 4T, WIfeeT Y <F FAT F1 Wreet F3f 7t aorren wfew 159f F @ra-da gerere w71 agF @, sufav sw Rgaa
A A4 W 731 o9 BN

(¥ d@F ¢ 7T, FHAAS ANR)
‘JIfRT Y oF AT FT G F3 77 T AR I8 9iFa fFaa Fr oM ?
[Question ID = 13527]

1. geTRelTersit 13T ¥ [Option ID = 24107]

2. foRTemsit o [Option ID = 24105]

3. uf3a earATSERY @47 o [Option ID = 24108]

4. 3HCTITS AR (eI@eh) = [Option ID = 24106]

Correct Answer :-

o ToRTeTSiT oF [Option ID = 24105]

5) farafaf@a gz i eare & ufew)

w1 1929 # forerm St & TR=% g3 3 7 & AFT 1939 7F g IRI7 el foet afersacar ghem € <rem arm) faren sh &
SqiFdca A 73 agd faw varfaa framl s 7 geT-waT garaTersi st & T Hraterd & st STAT-3AT FHIT o9viAy
ﬂﬁmﬁlﬁﬁmwmmﬁmm NT-arR IR 3T RS 9T ot g 9147 U7y 3SR AT ASH A vF
aEd R i 7HE 3R a6 F et Ferard @@ ¥ 7GAGT F TER 3 37 fer wnfefoas agrgest H ofy 3 aw N
AH g T 4T Y &1 3ifFa &1 Tare afeq eamaAfagr) s &1 v 3ueer off 3o et A AT & &)X T =™ 91| 3
FET 4T, WIEeT Y TH FATA 1 AT F3it 781 qerren anfew 197 # @ra-die gergrer aX F71 o567 41, sufaw 5w Rgia &
A FT I T2 BT N

(# da# F4 o7, FHAATS ATR)

qGF Y fheteh sqfFdcg o Fcafs ysniad frar ?
[Question ID = 13523]

1. geRelTerslt $TETa [Option ID = 24089]
2. foRTe [Option ID = 24092]

3. SIHATERT 74 [Option ID = 24091]
4, TGS 9f3d [Option ID = 24090]

Correct Answer :-

* GeReTerS $TETa [Option ID = 24089]

Topic:- DU_J19_BELED_T11_NEW

1) Which of the following is not a factor responsible for cyclone formation?

Arafaf@a & & wi @1 ges gwara AT & AT Searerh a8 8?2
[Question ID = 13590]

1. Temperature / A9HATT [Option ID = 24360]



2. Lightning / fS=telt [Option ID = 24357]
3. Wind speed / 9asT & d3T [Option ID = 24359]
4. Humidity / sTHY [Option ID = 24358]

Correct Answer :-
« Lightning / fSrsTelr [Option ID = 24357]

2) Which of the following is not a heat zone of the earth?

frafaf@a & & #la a1 wiear qed w1 arg Fledy 78t 82
[Question ID = 13600]

Prime Zone /9#@ shfestr [Option ID = 24398]

Frigid Zone /2ffcT sfcaer [Option ID = 24399]
Temperate Zone / 2fraTsoT sfeaer [Option ID = 24400]
Torrid Zone /30T &feaer [Option ID = 24397]

Hwn=

Correct Answer :-
e Torrid Zone /30T &feaer [Option ID = 24397]

3) Which of the following is not a natural fibre?

frfaf@a & @ o a1 wgfas Y adi 2
[Question ID = 13577]

1. Wool / 3¢ [Option ID = 24307]

2. Jute / 9@t [Option ID = 24305]

3. Nylon / siTS@iTeT [Option ID = 24308]
4, Silk / ¥ [Option ID = 24306]

Correct Answer :-
e Jute / & [Option ID = 24305]

4) Which of the following is not a consequence of deforestation?

frafaf@a & & Far aetesgeaer 1 aRome 7gi 82
[Question ID = 13584]

1. Increased infiltration rate / 3{cT:&aoT #T &I # gfg [Option ID = 24335]

2. Increased soil erosion / #aT 3qXe=T # gfg [Option ID = 24333]

3. Decreased soil fertility / F&T 34T # F#T [Option ID = 24334]

4. Decreased water-holding capacity of soil / FeT ST STeTeIRUT &THT H F#T [Option ID = 24336]

Correct Answer :-
» Increased soil erosion / #HeT 3(Meel # gfg [Option ID = 24333]

5) Which of the following represents the probability of a random event?

Feafaf@d ¥ ¥ S vF Tre=oar gear Y ikFar #1 gafar §?
[Question ID = 14377]

1. 1.004 [Option ID = 27507]

18

2. ¥ [Option ID = 27506]

8
3. 7 [Option ID = 27508]



4. -0.04 [Option ID = 27505]

Correct Answer :-
e -0.04 [Option ID = 27505]

6) Which of the following defines the relationship between Rhizobium and the roots of legumes?
rfaf@ad # & Fia a1 ra=y TEFRTH 3R Fellgr glet Fr 7Y F Feawer F1 IR T FIar 2

[Question ID = 13594]

1. Predation / 93878797 [Option ID = 24373]

2. Parasitism / T=hiadr [Option ID = 24374]

3. Symbiosis / FESNAET [Option ID = 24375]

4, Competition / 9TaaIfardT [Option ID = 24376]

Correct Answer :-
» Predation / 9¥81&70T [Option ID = 24373]

7) Which of the following set depicts the correct sequence of events in Indian history?

frrafaf@a ¥ & & il a1 ¥ st sfoer i aeasit F1 @dh g gefar g?
[Question ID = 13611]

1. Salt Satyagraha, Second World War, Rowlatt act, Non-cooperation movement / sTHe& Hcd13Ig, giadiy faed Ig, Tere
TFe, 3ragaeT (Non-cooperation) 3fiarele [Option ID = 24441]

2. Rowlatt act, Salt Satyagraha, Second World War, Non-cooperation movement / Jeic Tere, A TITIE, E{ﬁ?ﬂ'zr
faea g, 3ragdNeT et [Option ID = 24444]

3. Rowlatt act, Non-cooperation movement, Salt Satyagraha, Second World War / Jieie TeFe, 31TgAN4T 3Miglele, A5
HcA1g, efdia faea g [Option ID = 24442]

4, Non-cooperation movement, Salt Satyagraha, Rowlatt act, Second World War / 318311 3Tietel, FH® TcITE,
e vere, gfachar faea gg [Option ID = 24443]

Correct Answer :-

» Salt Satyagraha, Second World War, Rowlatt act, Non-cooperation movement / sTHeh TG, aﬁT-h?:r ICEGCH Ig,
Jore tare, 318 (Non-cooperation) 3iiarele [Option ID = 24441]

8) Which of the following kitchen waste items is non-biodegradable?

farafaf@a & & T$ A srafise awgsi 7 @ sia-wd Se-sfasiwmoia 82
[Question ID = 13589]

1. Empty milk sachet / g&r & @rell &elt [Option ID = 24356]

2. Used tea leaves / w=aYaT &r gé' T $r gfeaar [Option ID = 24354]
3. Spoilt food / TST &3 HsfeT [Option ID = 24353]

4. Torn out jute bago/ TeT EHT TeHeT & [Option ID = 24355]

Correct Answer :-
« Spoilt food / |ST &3 #ISTeT [Option ID = 24353]

9) Which of the following will turn the colour of red litmus paper into blue?

AFfaf@a & @ i a1 e a1 fored H FRT FY A 7T H I8 9m?
[Question ID = 13578]

1. Tamarind (imli) solution in water /$#TelY UTei &T BT [Option ID = 24312]
2. Vinegar /f&@T [Option ID = 24310]

3. Milk of magnesia /f&e 3iT% HI=AIfA=AT [Option ID = 24311]

4. Curd /&&r [Option ID = 24309]



Correct Answer :-
e Curd /&gr [Option ID = 24309]

10) Which of the following latitude passes through India?
frafaf@a sratier & & e AT sravier R & g T 62

[Question ID = 13597]

1. Equator / 87#ear 3@ [Option ID = 24385]

2. Arctic Circle / 3caiY gadcd [Option ID = 24386]

3. Tropic of cancer / e Y@T [Option ID = 24388]

4, Tropic of Capricorn / #&I Y&@T [Option ID = 24387]

Correct Answer :-
« Equator / 8777 ¥@T [Option ID = 24385]

11) Which part of the brain helps us in maintaining the posture and balance of the body?

wfeasE &1 i a1 amer iR Rt 3R Hqgere aome T@a # AR et Far 82
[Question ID = 13586]

1. Medulla / #igeT [Option ID = 24341]

2. Cerebrum / gATEdS®H (ARe) [Option ID = 24342]

3. Cerebellum / 3/fAfETSH (ARdeel#) [Option ID = 24343]
4, Hypothalamus / gTsarderad [Option ID = 24344]

Correct Answer :-
* Medulla / #iga [Option ID = 24341]

12) Which one of the following substances is a ‘compound’ and not a ‘mixture’?

Ffaf@a gerdf & & Fia a1 gered ‘g’ §, a1 fF sor?
[Question ID = 13583]

1. Tap water / aTcl &1 ST [Option ID = 24332]
2. Steel / Trer [Option ID = 24329]

3. Glucose / Fefelst [Option ID = 24331]

4. Brass / dfder [Option ID = 24330]

Correct Answer :-
o Steel / Tel [Option ID = 24329]

13) Which one of the following is not a Fungus?

Arfaf@a & @ sla Far adi 82
[Question ID = 13579]

1. Yeast /@HR [Option ID = 24313]

2. Bread mould /s'S #T %ther [Option ID = 24316]
3. Mushroom /AJFH [Option ID = 24315]

4. Seaweed /|G ATl [Option ID = 24314]

Correct Answer :-
 Yeast /@HR [Option ID = 24313]

14) Which one of the following is not a tribe in India?

Frafaf@d & ¥ S @ 4RT T vF T T8 82



[Question ID = 13613]

1. Ahom /3T81eT [Option ID = 24451]

2. Kazakh / saim@ [Option ID = 24452]
3. Bhil / #1eT [Option ID = 24449]

4, Gond / 71is [Option ID = 24450]

Correct Answer :-
« Bhil / #fYer [Option ID = 24449]

15) Which fundamental right in India empowers the citizens to move to court if they believe that any of
their 'Fundamental Rights' have been violated by the State?

3R UF AR ARTRS F s9ra § & 30% fre oft Ao srRer #1 s garT 3eau frar o §, o feufa &
FiaT @1 AT FRAFR ARG FY ered & 5= F1 3IRFR T §?

[Question ID = 13609]

1. Right against Exploitation / 21oT & T&eT® %R [Option ID = 24434]

2. Right to Constitutional Remedies / TdTfaieh 3R &7 31f8®R [Option ID = 24436]
3. Right to Freedom of Religion / €17 & Tadadr & 38R [Option ID = 24435]

4, Right to Freedom / TadadT &I 38R [Option ID = 24433]

Correct Answer :-
« Right to Freedom / Tad=dr &1 318X [Option ID = 24433]

16) Which was the first state in India to introduce Mid-Day Meal scheme (programme aimed at
providing cooked lunch for children in all government elementary schools)?
mmmam(mﬁwmqﬂﬁmﬁ@mﬁ#aﬁﬁm%vmgmmﬁmwm%gm) >E FA
qTAT AR HT IgT AT HlsT TT UT?

[Question ID = 13602]

1. West Bengal / uf®=reT s§a1mer [Option ID = 24407]
2. Kerala / &%l [Option ID = 24405]

3. Tamil Nadu / @f@el=lTg [Option ID = 24406]

4, Andhra Pradesh / 371¢r 9¢2r [Option ID = 24408]

Correct Answer :-
« Kerala / %%er [Option ID = 24405]

17) Which is the largest number that divides 245 and 1029 leaving remainder 5 in each case?

9% G99 99 TE&AT FiT @Y § SER 245 31 1029 F 00T F W IS ST A 5 AY @1 82
[Question ID = 13561]

1. 60 [Option ID = 24244]
2. 40 [Option ID = 24243]
3. 16 [Option ID = 24241]
4. 32 [Option ID = 24242]

Correct Answer :-
e 16 [Option ID = 24241]

18) Which movement began in the USA in the 1950s in which African —American people demanded
equal rights and an end to racial discrimination?

HZF T FANGT # 1950 & G H FleT {1 HieTereT Y g7 A7 Forwal nhrehy -3l aert & wammer ot 3k
AT AEHTT FY FATCT FIA Y AT Hr 41?2



[Question ID = 13606]

Basic Rights Movement / #ef 311K 3ficTeral [Option ID = 24422]

Civil Rights Movement / ARTR 38R 3TglersT [Option ID = 24421]
Social Rights Movement / @T#ToTeh 31fAR 31icielsT [Option ID = 24423]
Economic Rights Movement / 3 31f8iR 31TeTeleT [Option ID = 24424]

HwON =

Correct Answer :-

«  Civil Rights Movement / siTaTR& 31fA&R 3TieTelsT [Option ID = 24421]

19) When we boil water in an aluminium pan, the quantity of water in the pan decreases with time. This
is because:

(i) aluminium absorbs the water

(ii) water gets converted to carbon dioxide

(iii) water gets converted to water vapours

(iv) water heats up and breaks into hydrogen and oxygen which mixes with air above

Which of the above statements is true?

I §H I I HeGAAGA & et 7 FaT9q §, A WAL F VY-V S Y ATHT FA el AT § | $HAT HROT &
(i) sregFfaTH STer 1 T Far s

(i) ST FTe=T SBAHTFASS H TG ATAT &

(i) STeT, STeraTsq & e AT §

(iv) FSAT TEVT FIA W A, TSIt AN IS 7 a&ol AT § SN FU AT A A fAer e g

39gFd H ¥ PlT-TT FUS T 8?2

[Question ID = 13580]

1. Both (iii) and (iv) / (iii) 3iX (iv) gxAt [Option ID = 24320]
2. Both (i) and (ii) /(i) 3R (ii) @ [Option ID = 24319]

3. Only (iii) / sawer (iii) [Option ID = 24317]

4, Only (iv) / aef (iv) [Option ID = 24318]

Correct Answer :-
« Only (iii) / aer (iii) [Option ID = 24317]

20) When no single party enjoys majority in a legislature, then the government is formed by an alliance
of two or more political parties. What do we call this type of Government?

sta 1§ oft ot Rrerh gare F agwa @ 7€ shad ¥, O SR g7 F fAw o) ar &t & 30 o v wry Ia ¥ 59 IR
Y TIHR FY FAT Fgl AT &2

[Question ID = 13604]

1. Majority Parliament / SgAd &3¢ [Option ID = 24414]

2. Hung Parliament / F32i% & [Option ID = 24413]

3. Coalition government / IToa8«T AIHR [Option ID = 24416]

4, Minority government / 37eqd&de PR [Option ID = 24415]

Correct Answer :-
« Hung Parliament / f3=i% #&e [Option ID = 24413]

21) During a survey, Anu noted the following entries:
X+9x+8x+7,x+6,x+5,x+4,x+3,x+2,x+1,x
The median of these entries is 5.5. What is the value of x?

T FI&T0T & R 3] F ol afafteat o #r:
X+9x+8x+7,x+6,x+5,x+4,x+3,x+2,x+1,x
T yiafSeal FT ATETF 5.5 §| X FT AT FATE ?



[Question ID = 13573]

1. 1 [Option ID = 24292]
2. 7 [Option ID = 24291]
3. 0 [Option ID = 24289]
4. 6 [Option ID = 24290]
Correct Answer :-

o 0 [Option ID = 24289]

22) 1f p(x) = ax? + bx + ¢, (a # 0) and a + c = b, then what would be the zeroes of the polynomial
p(x)?
IR p(x) =ax? +bx+c,(az0)3ika+c=b¥, a ag9e p(x) % LI F4T §19? [Question ID = 13570]

—b
_L. i
a
1. [Option ID = 24279]

2. [Option ID = 24278]
3. [Option ID = 24280]

4, [Option ID = 24277]

Correct Answer :-

23) In a given two-digit number, the digit at the tens place is thrice the digit at the units place. By
reversing the place of digits, the new number formed is 36 less than the given number. What is the
given number?

aX 31t arelt &Y T T WEAT H TET$ & TUTT FT I SH1S & TATT & IHF FT Aol [T &1 S/ HEAT & 3l F TIT 3ol W
9Tod §E&T, &) T TEAT ¥ 36 FH 1 &Y 7€ T&qT FAT 2

[Question ID = 13571]

1. 42 [Option ID = 24284]
2. 62 [Option ID = 24281]
3. 93 [Option ID = 24283]
4. 26 [Option ID = 24282]

Correct Answer :-
e 62 [Option ID = 24281]

24) 1n a survey, data is collected from 100 people. The sum and mean of the entries are (y3 — 25) and 1
respectively. What would be the value of y?

T FFaT0T 7 100 Y ¥ 3nFS WA fre v 39 wiafeat #1 aver 3ikk Avew Fer: (y3 -25) 31 ¥y F AW w4
ghem?

[Question ID = 13558]

1. 5 [Option ID = 24230]
2. 125 [Option ID = 24229]
3. 115 [Option ID = 24232]
4. 25 [Option ID = 24231]



Correct Answer :-
e 125 [Option ID = 24229]

25) Three spherical balls with radii 1 cm, 2 cm and 3 cm were melted and a big spherical ball was
formed. 25% of the metal got wasted in this process. What would be the radius of the new spherical
ball?

et MR 34 S, Bead waer: 1 a4, 2 a3 3t 3 a3 o, 372 Rger 7 v 72 NaeR 3 g 718 59
ST 7 25% T IFR 8 AT $H 7§ MAHR 3G H Brom #1 grit?

[Question ID = 13569]

1. 2 cm / 2 G [Option ID = 24276]
2.5cm /5 @A [Option ID = 24274]
3.3 cm/ 3 §#Y [Option ID = 24275]
4.6 cm / 6 Y [Option ID = 24273]

Correct Answer :-
e 6cm/ 6 T [Option ID = 24273]

26) Metal ‘M’ reacts with Oxygen to form a metal oxide ‘M,0’. What is the valency of the metal ‘M'?
(Atomic number of Oxygen is 8)

g M’ JitFieeT @ BT #3341 3iTeaTss "My0’ 1T 81 U M’ Y HSllehar F4T 82 (3iTerister Y IATI] HEdT 8
?)

[Question ID = 13591]

1. 1 [Option ID = 24362]
2. 4 [Option ID = 24363]
3. 2 [Option ID = 24361]
4. 3 [Option ID = 24364]

Correct Answer :-
o 2 [Option ID = 24361]

27) From a right-angled triangle, a square of 1 unit was cut from one of its corners. What will happen to
the perimeter and area of the resulting figure?

TF FHFIVT PSS & U F1 § 1 3FTE 1 TF q9 FIe a1 I1ar §1 9o ey & TRAT 3 e W g6 741 v
ghem?

[Question ID = 13559]

1. Perimeter will decrease; while there will be no change in the area/  IRHATT T ST, ST ST H HIS
SEaTT &Y 3T [Option ID = 24234]

2. Area will decrease; while there will be no change in the perimeter /  &19%hdl T€ ST, ST GRATT F HIS
Scoltd A8l 3T [Option ID = 24235]

3. There will be no change in both area and perimeter /  gR&EATT 3R &THeT Sl 7 FIS FEelTd STgT 3T [Option
ID = 24233]

4,  Both area and perimeter will decrease / 9IRATT 3R &%l il & g€ 3T [Option ID = 24236]

Correct Answer :-



«  There will be no change in both area and perimeter /  aR&TT 31X & FFcT ST H PIS TcoTd AT T
[Option ID = 24233]

28) Ahmed can complete the rewiring of a house in 5 days. However, with the help of Saroj, he can
complete the work in 3 days. If Saroj were to work alone, then how many days would she take to
complete the rewiring?

3EHS UF W A Rsrel Y ar e 1 w7 5 Rt F g F war §1 TafE w0 A Ao ¥ g@ s FH 3 RA A q@
FT FHAT ¢1 3R U 37 HIH FI kel FIAT 8, a7 98 fhaer el & TR o9 grwafi?

[Question ID = 13568]

1. 7 Va days / 7 V2 f&aT [Option ID = 24272]
2. 7 days / 7 &1 [Option ID = 24270]

3. 15 days / 15 f&sT [Option ID = 24269]

4. 6 12 days / 6 V2 f&T [Option ID = 24271]

Correct Answer :-
« 15 days / 15 &= [Option ID = 24269]

29) Neha went shopping for caps and shirts. The number of shirts she bought was three less than thrice
the number of caps purchased. Also, the number of shirts purchased was six less than six times the
number of caps purchased. How many caps and shirts did she buy?

aer ARt 3w wlies 181 3uE qarr @A ¢ FAGT Fr wET, i 7§ ARG Fr vEw F faa F e waw o |
a1y €, @ 18 FHAT Fr wewn, T 7 AT Ay FEA F 57 I A 57 FA A | 39 Rraeh afar sk wAS
Tidi?

[Question ID = 13562]

1. 2 Caps, 1 Shirt / 2 2T, 1 sesT [Option ID = 24247]
2. 0 Cap, 1 Shirt / 0 €T, 1 &aIsT [Option ID = 24246]

3. 1 Cap, 0 Shirt / 1 €IdY, 0 SareT [Option ID = 24245]
4.1 Cap, 2 Shirts / 1 @Y, 2 Fafiet [Option ID = 24248]

Correct Answer :-
« 1 Cap, 0 Shirt / 1 &I, 0 ST [Option ID = 24245]

30) In which century did the ideas of citizenship and nation-state took root in India?

R & aArerar 3R Ive-Ted & Rt #1 vl R wd # gam an?
[Question ID = 13603]

1. Late nineteenth century / 3e=iadr erdTedT & el HTIT 7 [Option ID = 24409]
2. Late eighteenth century / 3GRgdT erdTsAT & U T &/ [Option ID = 24411]
3. Mid nineteenth century / 3==iradT TET & ALT & [Option ID = 24412]

4., Early nineteenth century / YR 3e=iradr erdrear & [Option ID = 24410]

Correct Answer :-
« Late nineteenth century / 3==iIdT eTcTsar & Gl HTIT H [Option ID = 24409]

31) How is water provided to crops in drip irrigation system?
TUHE (37) RaT$ saaear & FHd ) T HE ST FIAT SATT 82

[Question ID = 13581]

1. Creating artificial rain using showers / &f3& as %1 $gRI & [Option ID = 24322]

2. Sprinkling it by using rotating nozzles / Em?i’rsé rer & f&gera & [Option ID = 24323]

3. Making it flow in small drains around crops / ®&e & TRT 3R B ATfergt & o787 &% [Option ID = 24324]
4. Drop by drop directly near the roots / HI¥ STst & U g g &<eh [Option ID = 24321]



Correct Answer :-
« Drop by drop directly near the roots / #Ie STst & U1 &g §g ¥ [Option ID = 24321]

32) How many lines of symmetry does a rectangle have?

T 3T & fha« gafafa @ axd &2
[Question ID = 13553]

1.Two/ & [Option ID = 24210]

2. Four / 9 [Option ID = 24209]

3. Infinite / 37T [Option ID = 24212]
4.0ne/ T [Option ID = 24211]

Correct Answer :-
e Four/ =R [Option ID = 24209]

33) A card is selected at random from a well shuffled deck of 52 playing cards. What is the probability of

the card being a red face card?
e IR A BT 71§ 52 gl Y v arer Y 73 F ¥ v IedT IreoodT [Awrar ST &1 swh F41 wilear § % a8
9edT Ueh dTel 1T T dEAR aTell IedT 872

[Question ID = 15226]

3

1. 13 [Option ID = 30902]
3

2, 128 [Option ID = 30901]

1

2
3. [Option ID = 30904]

4, [Option ID = 30903]

Correct Answer :-
3

. 2% [Option ID = 30901]

34) In terms of credit, what does Collateral mean?
FOT Y T ¥ FHAF FOTHR HT F4T 37 &2

[Question ID = 13601]

1. An asset that the borrower owns and uses this as a guarantee for the lender until the loan is repaid / T&T Tqfcd Sir
SR & U gich § 3R a8 KT Yehlel e 3/ IR & &9 H 3UANT &l § [Option ID = 24403]
2. An asset that both lender and borrower jointly own and use as a guarantee until the loan is repaid / UHY §9fcd St
HOUTSTAT 3 SURHT aldl T T @ § AR KT Tehled e IR & FI & 3UANT &L § [Option ID = 24402]
3. An asset that the lender owns and uses this as a guarantee for the borrower until the loan is repaid / &Y @afcd it
RUTETAT & UIH & 3R H0T Gehlel oeh a8 38 RN & §I & IYANT &l & [Option ID = 24401]

4. A random asset that neither the borrower nor the lender owns, however, it is used as a guarantee until the loan is
repaid / ¥HT Fufed St o aY IURSAT 3R 7 & FHOTSTAT & I 8T & SfeheT 3T 3TANTT IR F F H fHam F1ar g
SISl ik o FOT YT +AEl STIT [Option ID = 24404]

Correct Answer :-
« An asset that the lender owns and uses this as a guarantee for the borrower until the loan is repaid / ¥&t Fafed
SiY FOUTETT & UTH § AR FOT Yhiel cieh a8 38 IIREN & §G & 3UJET Il ¢ [Option ID = 24401]



35) Every rational number is

T IRAT wEar Tl
[Question ID = 13557]

1. Aninteger / W& QUi [Option ID = 24226]

2. Areal number / U aedfde @&AT [Option ID = 24227]
3. Awhole number /  Te quT H&AT [Option ID = 24228]

4. A natural number /  Ueh YTehcd H&AT [Option ID = 24225]

Correct Answer :-
e A natural number / WWH@T [Option ID = 24225]

36) Consider the following changes that take place around us:
(i) Burning of dry leaves

(ii) Conversion of milk to curd

(iii) Evaporation of water from a pond

Which of the above is a physical change?

farafaf@a wRadw eaR 3w 9w glRd @ ¥ 397 W AR & i
(i) & ufeaat &1 srerem

(iii) ¥ =T &Y # Feer

(iiii) aTenTe & gret FT arSdiHIoT

3uFd # & Fi9 71 TRade sifaF aRade §2

[Question ID = 13588]

1. Both (i) and (ii) / (i) 3R (i) g1 [Option ID = 24352]
2. Only (iii) / shaer (iii) [Option ID = 24351]

3. Only (i) / &ae (i) [Option ID = 24349]

4, Only (i) / ae (i) [Option ID = 24350]

Correct Answer :-
e Only (i) / %a (i) [Option ID = 24349]

37) Match Column I with Column II

Column I Column II

a) Humus 1) prevent soil loss

b) Shelter belt 2) helps to retain soil moisture

c) Rock dams 3) organic matter deposited on top soil
d) Muiching 4) check the wind movement

FIAA I TAT FIdH II &1 A ffow

HTaA I Hra# 11

a) T 1) FET 3T9RE HY Nehell

b) &7 A@aT 2) A Fr T FY TATC @A H AGE FIAT R
C) I sy 3) 398 FaT W AR sta vt

d) el 4) gar Y AfY A AT F H A FA

[Question ID = 13610]

a-3, b-4, c-1, d-2 [Option ID = 24437]
a-4, b-1, c-2, d-3 [Option ID = 24440]
a-1, b-2, ¢-3, d-4 [Option ID = 24438]
a-2, b-3, c-4, d-1 [Option ID = 24439]

AW

Correct Answer :-
. a-3, b-4, c-1, d-2 [Option ID = 24437]



115781
250

i.j

38)  What will be the digit at the thousandths place of the number

115781 : . =
> H AgHTeT T FT 95 F47 w2

[Question ID = 14378]

1. 1 [Option ID = 27511]
2. 4 [Option ID = 27509]
3. 2 [Option ID = 27512]
4. 3 [Option ID = 27510]

Correct Answer :-

« 4 [Option ID = 27509]

39)

s

If cos A== and (0° = A <90°), then what will be the value of tan A?

un

4 _3 L -
ﬂﬁcosA=E ST (0° < A =90°)g, T tan A =T HTH FIT ZAIT?

[Question ID = 13555]

[Option ID = 24217]

Wl | w

2. [Option ID = 24219]

W |

3. [Option ID = 24220]

e |

4. [Option ID = 24218]

Correct Answer :-

3

. = [Option ID = 24217]

40)
Which equation describes the relationship between X and ¥ in the table given below?

e ORUTH X AR v & T~ & $F 1 JHIH 0 gidl 82

X ¥
0o | -4
4 | -20
4. | 12
8 | -36




[Question ID = 14430]

—X

y=—"-4
1. 4 [Option ID = 27717]
2 Y= AX -4 o on D = 27719
y=-4x+4
3. [Option ID = 27718]
X
y=is wd
4, 4 [Option ID = 27720]

Correct Answer :-

=X
y=—-4
. 4 [Option ID = 27717]

41) Abdul was whirling a stone tied with a string in a horizontal circular path and suddenly the string
broke. What effect will it have on the stone?

3o T T I UF 4T § e ST gecii T8 9% GAT 8T AT 31 I=ieis 4T g€ AT 3T IedT W T W
qgam?

[Question ID = 13587]

1. It will continue to move in a circular path / Ig gectd 92 # 3Tl STRY IQM [Option ID = 24346]

2. It will move along a straight line towards the centre of the circular path / Ig gecitd T & s st 3T Hrelt Y@r &
grer a1fd I [Option ID = 24348]

3. It will move along a straight line tangential to the circular path / I& el 92 & 97 Y& el Y@ & @y arfa
T [Option ID = 24347]

4. It will drop to the ground immediately /&g il ST#leT WX X SITwam [Option ID = 24345]

Correct Answer :-
« It will drop to the ground immediately /& R ST#le TR X ST [Option ID = 24345]

42) Human body is of electricity and air is of electricity.
ATera R fagga 1 g § 3 ary Rgga &1 Aargl

[Question ID = 13582]

1. Conductor, Insulator / @TeTeh, 3TaR1e& [Option ID = 24326]
2. Conductor, Conductor / dTeleh, dTeleh [Option ID = 24328]
3. Insulator, Insulator / 3TaR1eIeR, 31@Rrers [Option ID = 24325]
4. Insulator, Conductor / 3TaRTeIe, dTeleh [Option ID = 24327]

Correct Answer :-
« Insulator, Insulator / 3axTtreR, 3Taxiereh [Option ID = 24325]

43) Why are the air conditioners (ACs) often placed high up on the walls?
I ATl gers (AC) R 9T FUX $T o FA1 T AT §2

[Question ID = 13585]

1. So that ACs do not require earthing / cTfeh aTcTejsherehl I 3TTaT T 3T o I3 [Option ID = 24338]

2. So that ACs consume less power / dTfeh EHT-HW faege rferd 1 a 39T X [Option ID = 24337]

3. So that the cool air moves down and hot air moves up / [ it &2 g+ T 3 AT I arg S A IR ST
[Option ID = 24340]

4. So that the hot air moves down and cool air moves up / dTféh 31 AT &Il 1 3R TUT Y g SR T 3R ST
[Option ID = 24339]

Correct Answer :-



+ So that ACs consume less power / dTfeh aTclTeleheleh faeget Qe T & 3uTer &Y [Option ID = 24337]

44) What does MRP stand for?
TH, 3R, 9. (MRP) F1 RTraia & #1182

[Question ID = 13599]

1. Minimum Retail Price / #sTd#H galr HeT [Option ID = 24396]
2. Minimum Rate Price / =gsTdH &T HeJ [Option ID = 24394]

3. Maximum Rate Price / 37f8ed#d &X #Hed [Option ID = 24393]

4. Maximum Retail Price / 31f&rade YeT #eF [Option ID = 24395]

Correct Answer :-
« Maximum Rate Price / 31f&d#d X HeT [Option ID = 24393]

45) What will be the geometric representation of the given pair of equations?
24x +1.6y-1.8=0and 4.8x + 3.2y-3.6 =0

v 1w wefiETor gew F1 sAnfAd AT F=m gem?
2.4x +1.6y-1.8=03T4.8x+3.2y-3.6 =0

[Question ID = 13563]

1. Coincident lines / EuTAY Y@TT [Option ID = 24250]

2. Parallel lines / THTAR Y@V [Option ID = 24251]

3. Parabola / IX@erT [Option ID = 24252]

4, Intersecting lines / ufa<de FTaT géi‘@ﬁ [Option ID = 24249]

Correct Answer :-

« Intersecting lines / e ST §'é' @1 [Option ID = 24249]

46) What would be the sum of the first 16 terms of the Arithmetic Progression: 10, 6, 2,...?
HATAT AL 10, 6, 2,.... F TIH 16 TSI HT 1T 4T g2

[Question ID = 13554]

. 320 [Option ID = 24214]

. =400 [Option ID = 24216]
. -352 [Option ID = 24215]
. -320 [Option ID = 24213]

A WN =

Correct Answer :-
e -320 [Option ID = 24213]

47) What do we call a state which does not officially promote any one religion as the state religion?
e U AT fRdY off et Y 3O 7 @ T 3t & d ) 781 319=11aT, 39 ST F FAT FgT AT 82

[Question ID = 13598]

Socialist / TATSIATET [Option ID = 24390]
Theocratic / &#7emf&d [Option ID = 24391]
Republic / IToTd [Option ID = 24392]
Secular / @7 R8T [Option ID = 24389]

Hwnh=

Correct Answer :-
e Secular / €37 fAX9eT [Option ID = 24389]



48) What is the name of the process by which a tadpole is transformed into an adult frog?

I IRHAT 1 7T Fgd § orad v 39, a9+ Ao o aRafda @y sar 2
[Question ID = 13592]

1. Molting / @& fasT [Option ID = 24365]

2. Regeneration / Gef#ATOT [Option ID = 24367]
3. Metamorphosis / &TITaRTT [Option ID = 24368]
4, Hibernation /efiafaifSsaar [Option ID = 24366]

Correct Answer :-
« Molting / f@#fereT [Option ID = 24365]

49) What is the process of cultivation of grapes called?

3R Y Aelt Y wfFaT Y 747 FoT ST 82
[Question ID = 13614]

1. Sericulture / ¥eax [Option ID = 24454]
2. Pisciculture / fa&heox [Option ID = 24455]
3. Vermiculture / gdfehear [Option ID = 24456]
4. Viticulture /faf@eax [Option ID = 24453]

Correct Answer :-
o Viticulture /fafeeeax [Option ID = 24453]

50) What is Per capita income?

afer cafera M &1 47 37 §?
[Question ID = 13605]

1. Income earned by each individual in the country / 2T # Jcdeh cafard GaRT 3fotd 3 [Option ID = 24417]

2. Income generated by payment of taxes by individuals / SaTFcaT gaRT 3T & 3Tl & 3cTe=1 3T [Option ID =
24419]

3. Total income of the country divided by total population / &1 T FeT 3T T Fel STeaEdT & 8Tt [Option ID =
24418]

4. Total income of the country divided by expenditure incurred / =T T el 3T & fohT 1T <7y T fasirsieT [Option 1D
= 24420]

Correct Answer :-
« Income earned by each individual in the country / &2T # Wcde cafad @Rt 3ifoid 3 [Option ID = 24417]

51) Anita is getting ready for a party. She is standing at a distance of 20cm from a plane mirror. At what
distance will her image be formed?

3refiar ver ardt & fore I 8 WY ¥1 9% v FAA gOT & 20 FAHT A gt W @ ¥ A 3w ufafde fraet g w
qaam?

[Question ID = 13575]

1. 30 cm / 30 @AY [Option ID = 24297]
2. 10 cm / 10 9#Y [Option ID = 24300]
3. 20 cm / 20 BT [Option ID = 24298]
4,15 cm / 15 @AY [Option ID = 24299]

Correct Answer :-
« 30 cm / 30 THT [Option ID = 24297]



Read the passage given below carefully.

Most of us have our moments of wonder, when we are curious, and we ask questions that actually are
historical. Watching someone sip a cup of tea at a roadside tea stall you may wonder — when did people
begin to drink tea or coffee? Looking out of the window of a train you may ask yourself — when were
railways built and how did people travel long distances before the age of railways?... All such historical
questions refer us back to notions of time. But time does not have to be always precisely dated in terms
of a particular year or a month. Sometimes it is actually incorrect to fix precise dates to processes that
happen over a period of time. People in India did not begin drinking tea one fine day; they developed a
taste for it over time. There can be no one clear date for a process such as this. Similarly, we cannot fix
one single date on which British rule was established, or the national movement started... All these
things happened over a stretch of time. We can only refer to a span of time, an approximate period over
which particular changes became visible.

(Our Pasts III, NCERT, 2007)

farafaf@a e #t eare & afew

g & & srftrier AT @Y srafFera FTaare W &707 @1 § 919 § 3cgF 8l © 3§ X0 oA qBdd © S aad A
trﬁmﬁmgﬁ%lmmﬂm#wwwﬁmmwmwmwmwmﬁmwm%
aﬂwﬁ#mmmmmmmwmﬂm?mﬁm#mmﬂmm#wm% Yord 1 @AAor
o T T 3R T 35 Y @ T el ot Y AT A 92 .. ¥ W e e g W @ WA aomt
TeT: AN I § | T §AT F w4 et AW av a1 7 F Irepan & PuiRa ¢ wwen aifge) wai-wsh afea
wfranait & faw faga fafy varfra Fem aeaa & araa ghar 1 Ra & det @ v e & arr fiem o 1t fram; @t
mmwmq&mé’rmgamwmﬁma;maﬂéwmaﬁamlmmwww
Wﬁﬁaﬁm%ﬁﬁwmﬁwﬁaﬁmwm T IS JTETeleT e HFH FIT AT ... | T T3t A v
TR # g81 g el T B FAW T IoAw F T §, s reperr srafer Rt Frery oRcter R veT 31

(8HR e ITI, oot 16,3114, 2007)

According to the passage above what can one infer about the nature of certain social processes?

IUGFA I F HTAR, FS FHTAS THATHT T THFIX F IR 7 FIT IaT TRAT ST FohvelT 82
[Question ID = 13608]

1. They are gradual and take place over a period of time / I sf&e® § 3R T FAIET 7 g1 § [Option ID = 24431]

2. They are gradual and end on precise time / @ %A% g 3R ARTd TaT W FATT 819 § [Option ID = 24430]

3. They can be assigned fixed dates / 3=1ehT faaa fafdar fAuTRa $r 5 Tedr & [Option ID = 24429]

4. They begin on a specific date and end on a specific date /& Teh fafRrse fafr & & g § 3R ve fafarse fafy @
AT g1d & [Option ID = 24432]

Correct Answer :-

« They can be assigned fixed dates / 3a7ehT Tz fafd=m fAuTRa $r 5 @erdT § [Option ID = 24429]

53) Read the passage given below carefully.

Most of us have our moments of wonder, when we are curious, and we ask questions that actually are
historical. Watching someone sip a cup of tea at a roadside tea stall you may wonder — when did people
begin to drink tea or coffee? Looking out of the window of a train you may ask yourself — when were
railways built and how did people travel long distances before the age of railways?... All such historical
questions refer us back to notions of time. But time does not have to be always precisely dated in terms
of a particular year or a month. Sometimes it is actually incorrect to fix precise dates to processes that
happen over a period of time. People in India did not begin drinking tea one fine day; they developed a
taste for it over time. There can be no one clear date for a process such as this. Similarly, we cannot fix
one single date on which British rule was established, or the national movement started... All these
things happened over a stretch of time. We can only refer to a span of time, an approximate period over
which particular changes became visible.

(Our Pasts III, NCERT, 2007)



frafaf@a areier w1 earer & afew

g & & wftsier A @) rafFaa FTaare W 8107 81 § 919 § 3cgF el § 3N §H X/ oA qBdd & S aead F
ﬂﬁmﬁwaﬁ%lmmmﬁwwwﬁmmwmwmwmwmﬁmwm%
At 3 Ty A7 FIHY e FT TAA F LR mmvwﬁm#mm?mm#wm% Yea &1 fA=Ator
ﬁammaﬁrma?m#mw FY AT FA w2 ... W T MAERE weeT g gHY ¥ geafa eonsit
lrermmélmmﬁmmﬁmﬂmm*m#ﬁuﬁﬁaaﬁmaﬁmaa'aﬁamﬁaﬁ'a
qﬁrmﬁakﬁvma%ﬁrmﬁammﬁmam%l m#aﬂvﬁ#wﬂaﬁmnﬁmagaﬁﬁm 3HFT
e 3AA T GHY TR & ScTeet EHT| FH 7€ 1 9ihan & forw F1¢ Fose arirg =€t & acll| 3 TR &7 Ig T5¢
T ¥ Fg A¢ Tohd o e oot Fa Tafa BFam 4 o1, a1 TS AT He HFH g3 AT ... | ¥ T A v
woraTatty % g§1 a1 e T Y 3T H1 SoAE T THA §, T e Aty Hrea ey ofade R @ ¥

(8FR i IIT, va.®.4.3m.8., 2007)

When is a question called 'Historical’in nature?

FIE N TaET A UAgiAF’ w9 Fgarar §?
[Question ID = 13607]

1. When it refers to a person / SI§ g8 U cdiard & TFaTd 8IdT ¢ [Option ID = 24425]

2. When it refers to a group of people / ST 9 19l & Teh HHE ¥ FFaTOd &1 & [Option ID = 24427]
3. When it refers to the notion of time / ST§ 98 &I ST YRUT & FFETAT 8T & [Option ID = 24428]
4. When it refers to an object / ST&f dg Ueh a¥q ¥ GFaTAd &lall & [Option ID = 24426]

Correct Answer :-
« When it refers to a person / SI§ dg Ueh <Tidd & TFETAd gidT & [Option ID = 24425]

54) Read the passage given below carefully.

What does social democracy mean? It means a way of life which recognises liberty, equality and
fraternity as the principles of life. These principles of liberty, equality and fraternity are not to be treated
as separate items in a trinity. They form a union of trinity in the sense that to divorce one from the other
is to defeat the very purpose of democracy. Liberty cannot be divorced from equality; equality cannot be
divorced from liberty. Nor can liberty and equality be divorced from fraternity. Without equality, liberty
would produce the supremacy of the few over the many. Equality without liberty would kill individual
initiative. Without fraternity, liberty and equality could not become a natural course of things. It would
require a constable to enforce them.

(B.R. Ambedkar's speech, Frontline, February 2019)

fArafaf@ea g # e & afkw |

ENIF a1 374 F41 §2 T8 v Wl Shtae gefa ¥ Y Fadsar, garear A dyea F shae & Rgial & w0 3
TR FICA | T, FATAAT AR T & 3o Rgrat # Bregfet 7 arerer- mmﬁ#wﬁaﬁmmm%l aE
ﬁﬂﬁmwﬂmmﬂaﬂm%ﬁmﬁﬁwqm#mwﬁmmmm#ﬁwmﬁmamm
TIATAT T TATAAT A AT AET FHAT ST TR §; FHATACT F TaGTFAAT A I 8] hAT ST WehdT &1 AT & Faaaar 3T
ATAAT FI §ET AT AT T FhelT §1 FATTAT & AT Fqcaa1 6 AN & I HY q91aT &9t | T & R
ATAAT SATFAINA ITHH FY oS¢ F et | dea F 31, FacTam AR FATTAT AATT FRAVOTR FT AT 781 77 T
37 A FIA & fAT v TgRER Ay Araegan gt

(IR, HFISHT FT ST, HedTsd, FEd 2019)

Which of the following are the significant principles of a social democracy?

Prfafle # & T & W dved & Agcayyt Rigia §2

[Question ID = 13595]

1. Equality, democracy and liberty / T&TAdT, dleha 3 Tad=dr [Option ID = 24380]
2. Fraternity, democracy and liberty / s¢fcal, eitehcia 3R Faciadr [Option ID = 24378]
3. Liberty, trinity and equality / ¥acdr, Pefd 31k @A [Option ID = 24377]




4. Liberty, equality and fraternity / Tac=dT, G#TeTaT 3 §Efca [Option ID = 24379]

Correct Answer :-
« Liberty, trinity and equality / ¥ae=ar, Fafc 3R FATTAT [Option ID = 24377]

55) Read the passage given below carefully.

What does social democracy mean? It means a way of life which recognises liberty, equality and
fraternity as the principles of life. These principles of liberty, equality and fraternity are not to be treated
as separate items in a trinity. They form a union of trinity in the sense that to divorce one from the other
is to defeat the very purpose of democracy. Liberty cannot be divorced from equality; equality cannot be
divorced from liberty. Nor can liberty and equality be divorced from fraternity. Without equality, liberty
would produce the supremacy of the few over the many. Equality without liberty would kill individual
initiative. Without fraternity, liberty and equality could not become a natural course of things. It would
require a constable to enforce them.

(B.R. Ambedkar's speech, Frontline, February 2019)

ol sregier # eare § afew |
mmmy&wtﬁwmaﬁaﬂwﬁ%mw,mmaﬁrmaﬁsﬁaw%fama;wﬁ
PR FICA | TG, GATAAT IR T & 3o gt F Begfef 7 srerer- mmﬁ?wﬁaﬁmmm%l aE
ﬁﬂﬁmwﬁwmﬂaﬂm%%aﬁsﬁ*wa@i#mwﬂwm?ﬁmﬁﬁwmﬁmaml
FIATAT Y HATAAT § 37T ST AT AT Hehell §; TATAT Y FAATAT ¥ 3T LT AT ST Wl §1 AT & Fqaaarr 3R
HATAAT F GT Y AT FFAT T Fhell §1 AT & a7 Faciaan o AW & I9Ed HY qgmar &9t | Fae=en & R
ATAAT SATFAIN SUHH FT A5 F M| FYca F e, Facaar AR FATTAT GAT FTREYOTE F1 REAT 7 a7 Tl |
37¢ AN F F fAT TF TR Y JTaeTFHAT gl

(&3, IFISHT FT HTYVT, HedTss, HLad 2019)

Without the principle of equality, what would liberty in social democracy mean?

HATAGT & QT F 4, aenfas aeaa & Fad=dar &1 F41 30 gem?

[Question ID = 13596]

1. Freedom to choose one's own religion / 379« &5 ol &I TaAFdT [Option ID = 24384]

2. People are free to make their choices without any compulsions / S1aT f&r=iT feRel galTer o 3UeT THETTAR Thl A
oI Tad & [Option ID = 24381]

3. There is no state to govern the people / 31T T ATHA A b oI AIS TT AT & [Option ID = 24383]

4. Dominance of a small number of people over masses / STeidll &R $& faiel ollalt T FelercT [Option ID = 24382]

Correct Answer :-

« People are free to make their choices without any compulsions / SI4T fS=TT fohel gTd & 3Uel YHETTaR Te
el & Tt Tad g [Option ID = 24381]

56) Read the statements given below carefully:

(i) Classification of natural resources depends upon their level of development, use, origin, stock and
distribution

(i) Abiotic resources are non-living while biotic resources are living

(iii) Resources that are found everywhere are localised but those which are found only in certain places
are ubiquitous

(iv) Using resources carefully and giving them time to get renewed is called resource conservation

On the basis of the above statements mark the correct response from the following:

Frafaf@a Fyat F1 eae ¥ gfew:

(i) wrHfas waTH= 1 FeifEor 3% Rem F ¥, 39, seafeq, #isR ik Ravor | s Fward

(ii) 3rif® gaTue fsifa safF AfRe gans aoha g &

(iiii) & FHTYT S §T FUTT 9 UIC AT § TN gt @ 3R S wamerer R Fo wumel ) @ fraa § 3 wdeardt ga €



(iv) FETT HT CAAYEF TN H AT ST 3R 37 R A T3 T TAT AT HATUT FIETOT Fgolel §
IRIFT FYA1 F IR R fAafaf@a & & ad seaw giaw:

[Question ID = 13612]

1. (i), (i) and (iv) are correct / (i), (i) 3R (iv) @Er & [Option ID = 24447]
2. (i), (iii) and (iv) are correct / (ii), (iii) 3i (iv) T & [Option ID = 24448]
3. (i), and (iv) are correct / (i) 31 (iv) @Er & [Option ID = 24446]

4, (ii) and (iii) are correct / (ii) 3iX (iii) @WEr § [Option ID = 24445]

Correct Answer :-
« (ii) and (iii) are correct / (i) 31 (iii) T&r & [Option ID = 24445]

57) Carbon-dioxide gas is produced as one of the products in which of the following processes?

TS 391G & T H FIdT STSHFASS AW FT 3ol AFafaf@d # ¥ 5w yfrar A gar @2
[Question ID = 13576]

1. Burning of hydrogen gas with pop sound / Ta¥®IT €afel & ATY gTE3Ielel 3 & STelel & [Option ID = 24303]

2. Adding baking soda to vinegar /f&3ehr & SfheT TYaT fAemer & [Option ID = 24301]

3. Adding dilute sulphuric acid to ammonium hydroxide / de] HTFIRe 375l 7 HATFAIH grsgidrss A= & [Option
ID = 24304]

4. Mixing charcoal powder with iron / &g & |1 TRelel T o7 e & [Option ID = 24302]

Correct Answer :-

« Adding baking soda to vinegar /f&IeT & ST AIST A & [Option ID = 24301]

58) The difference between the length and the breadth of a rectangle is 23 meters. If the perimeter of
the rectangle is 206 meters, what is the area of this rectangle?

T I 1 dFa1$ 3K Tisr$ F1 3/av 23 Aex 1 IR 3179 1 IRATT 206 HeX §, A 57 31IT FT &1TPT FAT2?

[Question ID = 13564]

2520 m? / 2520 g7 #Hrex [Option ID = 24256]
2480 m? / 2480 g3t #eX [Option ID = 24255]
2420 m? / 2420 g7 #iex [Option ID = 24254]
1520 m2 / 1520 &3t #iex [Option ID = 24253]

Hw =

Correct Answer :-
. 1520 m2 / 1520 a3t #Hex [Option ID = 24253]

59) The sound waves cannot travel through which of the following medium?

tafer ater fasarfaf@a & & e ameasr & adt o) gcli?
[Question ID = 13593]

1. Gas / 3 [Option ID = 24369]

2. Solid / 31 [Option ID = 24370]

3. Vacuum / faaTa [Option ID = 24372]
4. Liquid / eI [Option ID = 24371]

Correct Answer :-
 Gas / 39 [Option ID = 24369]

60) The angle of elevation of the top of a tower from a point on the ground, which is 30 meters away
from the foot of the tower, is 30°. What is the height of the tower?

qF F v g @, 1 AR F urg-fg F 30 #HAex A gt W F, HaR & RER F71 3179 For 30° §1 AAR IS F2/T
2



[Question ID = 13572]

10 m/ 10 #r [Option ID = 24287]
30v3 m / 30v3 #r [Option ID = 24286]
30 m / 30 # [Option ID = 24288]
10v3 m / 10v/3 # [Option ID = 24285]

AN

Correct Answer :-
. 10v3 m/ 10v3 #Y [Option ID = 24285]

Topic:- DU_J19_BELED_T7_E_NEW_(optional)

1) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and
then said, ‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way
you may become useful.” He poked it with a finger. Naga raised its head and looked about with a dull
wonder. ‘You have become too lazy even to open your hood. You are no cobra. You are an earthworm. I
am a snake charmer attempting to show you off and make a living. No wonder so often I have to stand
at the bus stop pretending to be blind and beg. The trouble is, no one wants to see you, no one has any
respect for you and no one is afraid of you, and do you know what that means? I starve, that is all.’

(Naga; R. K. Narayanan)

Which of the following statements are not true about Naga?
[Question ID = 13529]

1. Naga did not open his hood [Option ID = 24113]

2. Naga was an earthworm [Option ID = 24116]

3. Naga was slow and sluggish like an earthworm [Option ID = 24115]
4. Naga was coiled in the wicker [Option ID = 24114]

Correct Answer :-
» Naga did not open his hood [Option ID = 24113]

2) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and
then said, ‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way
you may become useful.” He poked it with a finger. Naga raised its head and looked about with a dull
wonder. ‘You have become too lazy even to open your hood. You are no cobra. You are an earthworm. I
am a snake charmer attempting to show you off and make a living. No wonder so often I have to stand
at the bus stop pretending to be blind and beg. The trouble is, no one wants to see you, no one has any
respect for you and no one is afraid of you, and do you know what that means? I starve, that is all.’

(Naga; R. K. Narayanan)
‘I hope you are dead’. Which emotion of the boy is expressed in this statement?
[Question ID = 13533]

1. Frustration [Option ID = 24131]
2. Pride [Option ID = 24130]

3. Amusement [Option ID = 24129]
4. Surprise [Option ID = 24132]



Correct Answer :-
e Amusement [Option ID = 24129]

3) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and
then said, ‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way
you may become useful.” He poked it with a finger. Naga raised its head and looked about with a dull
wonder. ‘You have become too lazy even to open your hood. You are no cobra. You are an earthworm. I
am a snake charmer attempting to show you off and make a living. No wonder so often I have to stand
at the bus stop pretending to be blind and beg. The trouble is, no one wants to see you, no one has any
respect for you and no one is afraid of you, and do you know what that means? I starve, that is all.”

(Naga; R. K. Narayanan)
What was the boy worried about?
[Question ID = 13531]

1. Begging at the bus stop [Option ID = 24123]
2. Earning his daily living [Option ID = 24122]
3. The earthworm [Option ID = 24124]

4. Naga starving to death [Option ID = 24121]

Correct Answer :-
» Naga starving to death [Option ID = 24121]

4) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and
then said, ‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way
you may become useful.” He poked it with a finger. Naga raised its head and looked about with a dull
wonder. ‘You have become too lazy even to open your hood. You are no cobra. You are an earthworm. I
am a snake charmer attempting to show you off and make a living. No wonder so often I have to stand
at the bus stop pretending to be blind and beg. The trouble is, no one wants to see you, no one has any
respect for you and no one is afraid of you, and do you know what that means? I starve, that is all.’

(Naga; R. K. Narayanan)
Why does the boy stand at the bus stop and beg?
[Question ID = 13530]

1. He sold Naga to the purse maker [Option ID = 24119]

2. He was blind [Option ID = 24118]

3. Naga was dead [Option ID = 24120]

4. Naga was no longer entertaining people [Option ID = 24117]

Correct Answer :-
« Naga was no longer entertaining people [Option ID = 24117]

5) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and
then said, ‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way



you may become useful.” He poked it with a finger. Naga raised its head and looked about with a dull
wonder. ‘You have become too lazy even to open your hood. You are no cobra. You are an earthworm. I
am a snake charmer attempting to show you off and make a living. No wonder so often I have to stand
at the bus stop pretending to be blind and beg. The trouble is, no one wants to see you, no one has any
respect for you and no one is afraid of you, and do you know what that means? I starve, that is all.’

(Naga; R. K. Narayanan)
Why does the boy think that he may starve?
[Question ID = 13532]

1. His lack of skills as a snake charmer [Option ID = 24125]
2. Not being able to beg [Option ID = 24127]

3. The dull snake [Option ID = 24128]

4. The people are scared of snakes [Option ID = 24126]

Correct Answer :-
» His lack of skills as a snake charmer [Option ID = 24125]

Topic:- DU_J19_BELED_T8_E_NEW_(optional)

1) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions.
Sparrows have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of
their trust and love for each other in all languages. But strangely, over the past 50-60 years, sparrows
have been sadly deserting human company in urban areas, preferring suburban areas and the
countryside, and only making brief visits to nearby human habitats. So bewildering and absolute was
their alienation that in 2002, sparrows were included in the IUCN Red List of Threatened Species in the
U.K. and since 2010, March 20 has been adopted as World Sparrow Day. In 2012, Delhi adopted the
House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as
sentinels or as ecological indicators is a warning to humans about impending environmental hazards.
Several speculations have been put forward to account for sparrows deserting our cities, but they all
boil down to the simple fact that the rapid changes in the lifestyles of humans in urban areas are
increasingly incompatible with the conservative lifestyles of sparrows.

(Where have the sparrows gone?; P.].S. Raj)
In which year was ‘World Sparrow Day’ adopted?
[Question ID = 13550]

2002 [Option ID = 24198]
2001 [Option ID = 24199]
2010 [Option ID = 24200]
2012 [Option ID = 24197]

HwWN =

Correct Answer :-
. 2012 [Option ID = 24197]

2) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions.
Sparrows have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of
their trust and love for each other in all languages. But strangely, over the past 50-60 years, sparrows



have been sadly deserting human company in urban areas, preferring suburban areas and the
countryside, and only making brief visits to nearby human habitats. So bewildering and absolute was
their alienation that in 2002, sparrows were included in the IUCN Red List of Threatened Species in the
U.K. and since 2010, March 20 has been adopted as World Sparrow Day. In 2012, Delhi adopted the
House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as
sentinels or as ecological indicators is a warning to humans about impending environmental hazards.
Several speculations have been put forward to account for sparrows deserting our cities, but they all
boil down to the simple fact that the rapid changes in the lifestyles of humans in urban areas are
increasingly incompatible with the conservative lifestyles of sparrows.

(Where have the sparrows gone?: P.1.S. Raj)

Which phrase in the above passage means that sparrows have a mutually beneficial relation with
humans?

[Question ID = 13547]

1.  Sparrows have been sadly deserting human company in urban areas [Option ID = 24188]

2.  Sparrows have had a symbiotic relationship with humans [Option ID = 24185]

3. Lifestyles of humans in urban areas are increasingly incompatible with the conservative lifestyles of sparrows
[Option ID = 24187]

4. Sparrows are making brief visits to nearby human habitats [Option ID = 24186]

Correct Answer :-
. Sparrows have had a symbiotic relationship with humans [Option ID = 24185]

3) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions.
Sparrows have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of
their trust and love for each other in all languages. But strangely, over the past 50-60 years, sparrows
have been sadly deserting human company in urban areas, preferring suburban areas and the
countryside, and only making brief visits to nearby human habitats. So bewildering and absolute was
their alienation that in 2002, sparrows were included in the IUCN Red List of Threatened Species in the
U.K. and since 2010, March 20 has been adopted as World Sparrow Day. In 2012, Delhi adopted the
House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as
sentinels or as ecological indicators is a warning to humans about impending environmental hazards.
Several speculations have been put forward to account for sparrows deserting our cities, but they all
boil down to the simple fact that the rapid changes in the lifestyles of humans in urban areas are
increasingly incompatible with the conservative lifestyles of sparrows.

(Where have the sparrows gone?; P.1.S. Raj)
What does the phrase ‘boil down to’ mean?
[Question ID = 13551]

The reasons can only be guessed [Option ID = 24203]
In essence [Option ID = 24202]

There are multiple causes [Option ID = 24201]

Make one angry [Option ID = 24204]

AW

Correct Answer :-
. There are multiple causes [Option ID = 24201]



4) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions.
Sparrows have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of
their trust and love for each other in all languages. But strangely, over the past 50-60 years, sparrows
have been sadly deserting human company in urban areas, preferring suburban areas and the
countryside, and only making brief visits to nearby human habitats. So bewildering and absolute was
their alienation that in 2002, sparrows were included in the IUCN Red List of Threatened Species in the
U.K. and since 2010, March 20 has been adopted as World Sparrow Day. In 2012, Delhi adopted the
House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as
sentinels or as ecological indicators is a warning to humans about impending environmental hazards.
Several speculations have been put forward to account for sparrows deserting our cities, but they all
boil down to the simple fact that the rapid changes in the lifestyles of humans in urban areas are
increasingly incompatible with the conservative lifestyles of sparrows.

(Where have the sparrows gone?; P.1.S. Raj)
Why is the sudden disappearance of sparrows a cause for concern to humans?
[Question ID = 13548]

1 Sparrows are sensitive and strongly immune birds [Option ID = 24192]

2 Sparrows are tiny and vulnerable [Option ID = 24189]

3. Sparrows are ecological indicators of approaching environmental dangers [Option ID = 24191]
4 Sparrows are a trusted companion to humans [Option ID = 24190]

Correct Answer :-
. Sparrows are tiny and vulnerable [Option ID = 24189]

5) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions.
Sparrows have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of
their trust and love for each other in all languages. But strangely, over the past 50-60 years, sparrows
have been sadly deserting human company in urban areas, preferring suburban areas and the
countryside, and only making brief visits to nearby human habitats. So bewildering and absolute was
their alienation that in 2002, sparrows were included in the IUCN Red List of Threatened Species in the
U.K. and since 2010, March 20 has been adopted as World Sparrow Day. In 2012, Delhi adopted the
House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as
sentinels or as ecological indicators is a warning to humans about impending environmental hazards.
Several speculations have been put forward to account for sparrows deserting our cities, but they all
boil down to the simple fact that the rapid changes in the lifestyles of humans in urban areas are
increasingly incompatible with the conservative lifestyles of sparrows.

(Where have the sparrows gone?; P.1.S. Raj)
Where are the house sparrows found in the world?
[Question ID = 13549]

1 In very few places of the world [Option ID = 24193]

2 All over the world [Option ID = 24194]

3. Only in the polar regions [Option ID = 24195]

4 Everywhere in the world excluding the polar region [Option ID = 24196]

Correct Answer :-
. In very few places of the world [Option ID = 24193]



Topic:- DU_J19_BELED_T10H_NEW_(optional)

1) fArafaf@a ez #i eaw F 9wl

ER I EEIC R ICIE D (- I et B A W91 T quear #3091 it S T & FFT g A el of g el
A 3R (B)eerrrvnnennn e & w7 & gRord g T 3ue gHSr T % 59 3797 (C).nereeenns et I ot AT H
60%. ¥ ’TAF F AT HT THT, aA 7T 3 FIT AT (D)vevnvrnens ¢ o ganT 3w gt 9 AT 81| S RAT T For
aeT &) ATEAT § Y FAT AA-3T FT 3T 7T TAT HA BTN IHRT (E)evevrerrersenns &for 8Y 71, rgarar (FgaTeT) ¥ gom &Y

(#aT B 3] 9areie)

R vumet & (A) ¥ H7aR 7 RAwew gfaw:
[Question ID = 13535]

1. #&f3t [Option ID = 24140]
2. &iforeh [Option ID = 24138]

3. Fledfaish [Option ID = 24137]
4. 319Tehfcieh [Option ID = 24139]

Correct Answer :-
 @HTeufais [Option ID = 24137]

2) RFafaf@e e # e & gfewl

FFaT & TETe 9fafFar (A).eeenns et B A W41 T auear e 91 oft S T & FFA g A el of g el
A 3THT (B)-eeeerennnnns e & w7 & aRord g T 3er gHS T & 59 5747 (C).neeeeenns e W o AreT-aw
60%. ¥ JTUF F STAT HT THT, aAl 7T 3 FIT AT (D)vevcnrrnnnns ¢ o garT 3w ot 9 AT 81| S R R o
et &) ATEAT § Y FAT AA-3T FT 3T 7T TAT FA BT FHRT (E)eveererrersenes &fror gY aram, Agara (Agerar) & gom g

(#aT 8 g} 9areie)
ReFar w1  (B) ¥ 3ro[wR W@ Ao glaw:
[Question ID = 13536]

1. {01 [Option ID = 24142]
2. ATFTT [Option ID = 24144]
3. T [Option ID = 24141]

4, qTgT [Option ID = 24143]

Correct Answer :-
o HIH [Option ID = 24141]

3) frafaf@a e # carr & afew

FFaT & TeaTd IRATHAT (A)wecerersnnes e B R W41 & auear e 91 ot S T & AFT B A el of 8 HahT
A TP (B)evrrrennnrens farem & w9 & aftora & T 3ua wAsr T fF 9 33471 (C)ueeveereenns e 9T oft ATer-a T 7
60%. & AHTF o FTAT FT FHT, A 3T A FIeT AT (D)ervvrsvraees ¢ Fora garT 3w ot 9 AT 81| 5 R W Hor
aeT &) ATEAT § Y FAT AA-31T FT 31T 7T TAT FT BT FHRT (E)evevrerrersenes &fior §Y 71, Peara (FgaTeT) ¥ gom &Y

(aar#r#g': Yoag)



R Turer & (D) F 30N we RAweq glaw:
[Question ID = 13538]

1. gsira [Option ID = 24149]
2. fgarr [Option ID = 24150]

3. 391 [Option ID = 24152]
4, #3917 [Option ID = 24151]

Correct Answer :-
o g3a [Option ID = 24149]

4) farafaf@a s # e & afev

FFaT & TETe 9fafFar (A)weennens T B A W41 & quear F3e 9F ot ST T & AFT g 7 el of 8 T
AT (B)eerrrennnrens farem & w7 & aftora & T 3ua wAsr T fF 19 3347 (C).eeeeeeees e 9T oft Arer-aT 7
60%. & AHTF o FTAT FT THT, A 3T 3 FleT AT (D)ervvrsvraees ¢ Fora garT 3w gt 9 AT 81| 5 R W wor
aeT &) ATEAT § Y FAT AA-31T FT 31T 7T TAT FA BT FHRT (E)evevrnrrersenes &for §Y 71, eara (FgaTeT) ¥ gom &Y

(7T @Y ag; i)
R Turer # (E) & 3aR @) fawveq giaw:
[Question ID = 13539]

1. g3 [Option ID = 24153]

2. 9RaR [Option ID = 24154]
3. 3edTg [Option ID = 24155]
4, EarEY [Option ID = 24156]

Correct Answer :-
« g#s [Option ID = 24153]

5) farafaf@a ez #t ea & gfewl

[ERIELEICRITIEE | () NE— AT §1 AT WTT-81T T 9T e 9T 8t ST HOT & FFA g1 A el of 81 Hhl
A TP (B)everrennnrens e & w7 # aftora g T 3ua wast T & 19 570971 (C)evveereens g T oft AreT-o A
60%. I AHTAF o FTAT FT THT, A 3 I FIeT AT (D)evvveverees ¢ Fora qarT 3w ot 39 AT 8| 5 AT R wor
AT & ATSAT § A FAT AF-3 HT I FAT WAT AT FT| FHHT (E)uevevrnrsnsanns &for §Y 71, PgTa (FgaTeT) ¥ gom &Y

(#aT 8 3] 9areie)
R w1 & (C) ¥ Hr7aR W fapew glaw:
[Question ID = 13537]

1. 39AT [Option ID = 24145]
2. 1T [Option ID = 24148]

3. 31a7Y [Option ID = 24147]
4. %s¢ [Option ID = 24146]

Correct Answer :-
e 319ATA [Option ID = 24145]

Topic:- DU_J19_BELED_T9_H_NEW_(optional)



1) fArafaf@a ez Fi ear F 9wl

after iy vee 50 IRER Y Freh T F g ot glera & iRk g aRawr & 78t oels, wiw, g gidls F gy
qﬁmﬁﬁﬁmmgﬁmmqﬁ%wmﬁ#ﬁvm@mmﬁ%*maﬁw STA%d, garsHt AR eI ot
T & 5¢ TE AGH A 5 & A AT ATH AT 914 ATIHE B 754 FHT aF AT @A F AT T Fret w1
s'ﬁmsrm#lﬁmﬁﬂ?ﬂ%ﬂ?ﬂm#mmaﬁaﬁmmlma:mﬁswmaﬁagam
oft 1575 dames AR 9 & fow, gow srerarre gt Y et gogel a3 & fow AR 13 FETe qanst # oft Fr e it
gﬁw,m#m,maﬁa:maqﬁw-masﬁr%ﬁ#mmm@w

(A7 g7 NaFag)
dftet Y TE e 57 IRAR Y FINAT F a5 o gtore & ofY 15w AT F A1 AT §?
[Question ID = 13541]

1. m%ﬁ%mmﬁammgm [Option ID = 24161]

2. m%ﬁa:azrﬁmawmﬁwm[omon ID = 24163]

3. mﬁé@rMﬁmquﬁaﬂasm%mum[Optlon ID = 24162]
4, mﬁﬁ@rmwﬁmaﬁmgm[omonm 24164]

Correct Answer :-

o Floll AT F PRI & Sgel FATHT §37 [Option ID = 24161]

2) farafaf@a ez #i eare @ afew)

after iy vee 50 IRER Y Frelt AT F g ot glera & iR g TR 7 & 78t §oels, wiw, g giels F gy
qﬁaﬁﬁﬁmmgﬁmmﬁ%wwm??mm@mlmﬁﬁ*maﬁw mﬁ,saﬁﬁsﬁwmml
T & g¢ TE AGH A 5 & AL AT ATH AT 9141 ATIHF B TS FHT aF AT @A F AT T F9ret w1
mmmsmn'ms:rmsﬁ#aﬂrmﬁaﬂ?mﬁaﬁmmluﬁq%m#sﬂmﬁ#a@am
ft1ge¢ aeme AR 9= F AT, gow srererrer uut Fr awd T I F v AR 313 Fare ganst F oft F ama it
gfevan, @rae @ oA, msﬁ*maq?ﬁﬂa-ﬁaaaﬁtéﬁa?maﬁm@ml

(A7 g7 NaFag)
u@w#&eﬁ#mﬁaﬁmﬁﬁa&?

(i) a1 9 & AT
(i) 719 Y FEIfeSE I+t F fAw
(i) AW F TT g ¥ T F AT

[Question ID = 13544]

1. (i), (ii) 37 (iii) [Option ID = 24176]
2. (i) 31 (iii) [Option ID = 24174]
3. (i) 31K (iii) [Option ID = 24175]
4, (i) 3R (i) [Option ID = 24173]

Correct Answer :-
o (i) 3R (i) [Option ID = 24173]

3) fArafaf@a ez #t ea & afewl

ofter iy veet 50 IRER Y Frelt AT F g ot alera & iRk g aRaw # & 78t $oels, wiw, g giels F gy
Mﬁaﬂlamgﬁmmqﬁ%mem?mmr{{mlmﬁﬁ*mm mﬁr,saﬁa"raﬂtmsm
T & g€ TE AGH A F5 & AL aTol ATH A 914 TIHF B 754 FHT aF GUAT @A & 4w T Farat w1
mmsrmﬁ|mmsam3ﬁﬂ?aﬂrmﬁaﬂémaﬁa‘é‘ianmmugma:maﬁﬁs:rmzﬁaﬁragama
oft1g+E aemerst AR uT & v, qow srerorer el A A FHAY A F AT AR A1F AT q@nHt 7 of Fr mer &g
gfora, @l & R, FATA 3 rerar 39l ta-glera iR dora & faw oft Frergw i



(AT &7 NgFag)
U9 Ft gdf gferam & Far &7 o2
[Question ID = 13543]

1. 5= g% &argdr [Option ID = 24170]
2. et 3R do7 [Option ID = 24171]
3. | [Option ID = 24169]

4, FgTer [Option ID = 24172]

Correct Answer :-
« #TE [Option ID = 24169]

4) Frafaf@a e 7 e & aiew

et N vee 38 IRAR F el T 7 agar ua1 ghora § fIRAE 570 Rar A & wdt godks, wiw, ok gz & gy
Maﬂaﬁmmgﬁmmqﬁ%wma:mm@mmﬁéa:mm SRIRe, gergt 3R et o
T F ¥e< e AT H 7o & 7 a1 A AT q1ar 91AH F oS AT T GRS @A F A 3 waret w1
Wrsrrﬂams'a?ms;rma:aﬂrmﬁaﬂémaﬁaﬁmmlwa:mﬁgamaﬁmm
oY |3 Temee 3k o= & v, mm&aﬁﬁmmuﬁnﬁ#mmﬁlﬂmﬁamaﬁ#aﬁmanﬁmqﬁ
g, ma’k#m,msﬂé:mm:ﬁw—ahaaﬁr&m#ﬁmﬁm@ml

(A1 &7 NgFag)
frrafaf@a dut & & i a1 dor gt gforam w7 &er g2
[Question ID = 13542]

WIT [Option ID = 24168]
$TRd [Option ID = 24167]
g3ol3 [Option ID = 24166]
gerarTel [Option ID = 24165]

HwwnN =

Correct Answer :-
. geiTer [Option ID = 24165]

5) frafaf@a gz i eae & ufew)

?ﬁﬂmquﬁaﬂaﬁmﬁéﬁmmﬁma?ﬁlmwwaﬁaaﬁsﬁg Wi, T3 gids & g@y
qﬁaﬁﬁaﬁmmgﬁmmqﬁ%wm#mm@mmﬁﬁfﬁmm ST, SeTsh AN e s
T F qe< e AGA 7 7o & 7 ara A A q1ar 91AE F oS AT T G @A F A 3wt w1
mmsraﬂﬁﬁlsﬁ?msama’ra:aﬂtmﬁaﬂ%maﬁa?rmmlma;mﬁsamsﬁa?rmm
oY |5 demee 3k ue & farw, mm&aﬁﬁmmwaﬁa:mmﬁlﬂmﬁmm#aﬁmmmqﬁ
gfer, ma’k#m,maﬂﬂ:mm:ﬁw—ﬁaaaﬁr&m#maﬁm@m

(AT TR WgFag)
"R & ATART # 7 FATS A g Ferd’ F1 FROT PAfARET H & o a1 A€ 82
[Question ID = 13545]

1. AT T SR g 3T AT [Option ID = 24178]

2. T Y gaTd seta off [Option ID = 24177]

3. FET TioTel & AT Feg St T I dder gselr A [Option ID = 24179]
4, AGTAT ¥ AF TATESE §=TdT AT [Option ID = 24180]



Correct Answer :-
o FATC T a1y FAcr & [Option ID = 24177]



